
 

a 4 sin'x t 9 cos 6 0

4C I cos'x Ecosoc 6 0

4 cos2x t 9coso 6 0

0 4 cos'x Ecosoc 2

b 4 cos2x 9 cosx t Z O

4 2 4 Costa Cosa 8cg 2 TO
8

i 8 Cos cosse I 2 4cosse D 0

Cosa 2 4cosse 1 O

4 Cossa 1 TO

Osx 1

cos



cos I 75.50
S A

75.5
75.5 O

x 75.50 284.50
T C

435.5 644.50

E

Either Ittuna 0

Enno I fai i 450
S A

T D 135045
451 O 450

T C

or 5 since 2 0

5 suo Z Sc D Is



S A Sci 23.60
o

23.6 23 b G I 23.6
0 156.40

T C

ii 4 sine Hanse

4 sins 3 sins
Cossa

siroccos x 35in c

4sinoccosse 3 sins to

Sinx Classe 3 O

o
Either sinx so x to

X 1800

or 4 Cossa 3 to

4 Cossa 3

cos x 3 cos 41.40
4

S A
41.4
41 4

x 41.40
a 318.60 T c
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